ACE Match Questions

Thursday February 9th, 2006

Bentonville 

-  Blue, 1st position

Decatur

-  Yellow, 2nd position

Shiloh Christian
-  Red, 3rd position
Current Events

This planet, an icy, probably rocky ball, detected near the Milky Way’s center, is the most earth-like planet yet found outside our solar system.  This new planet, about 5.5 times the mass of Earth is located in this constellation.  Name this constellation.
Sagittarius  
(pg 2a, Jan 26)

This arsenal, one of 8 where the nation stores its chemical weapons, holds 12% of the united States’ chemical weapons stockpile.  Security was tightened after 3 people entered a restricted area just before midnight in a 500-arce area in the northern part of the arsenal.  Where is this arsenal located?

Pine Bluff, Arkansas  
(pg 3a, Jan 26)

This 46 year old economist is now in line to become Canada’s next prime minister.  His party’s victory ended nearly 13 years of Liberal Party rule.  Name him.

Stephen Harper ( pg 2a, Jan 25)

Geography
What is the Australian version of English called?


Strine 

pg 813

What is the name of the indigenous musical instrument of Australia?


The digeridoo
pg 817

On which Solomon Island did one of the major battles of WWII take place?


Guadalcanal

pg 836

American History
What was the name of the government that emerged following Germany’s collapse after World War One?


The Weimar Government
pg 501

What group of people were the victims of genocide at the hands of the Ottoman Empire in 1922, in which 1.5 million people were murdered?


Armenians
pg 500

What international organization was established after World War I in order to settle international disputes, and hopefully, avoid future wars?


The League of Nations
pg 497

Literature
In “The Daughters of the Late Colonel, “ by Katherine Mansfield, when the sisters are returning from the cemetery, Josephine cries and says their father will never forgive them.  Never forgive them for what?


Burying him 

pg 367

In “Labor Day Dinner, “ by Alice Munro, why has Roberta started wearing dark glasses?


She has taken to weeping  
pg 381

In “pie Dance, “ by Molly Giles, when the new wife of the narrator’s husband comes to visit, she doesn’t knock or ring the bell.  How does the narrator know she is there?


The dog “points” 

pg 251

American Government
The crime of attempting to overthrow the government by force or to disrupt its lawful activities by violent acts is called what?


Sedition
pg 547

Over the years, Congress has created two types of inferior courts?  Name one.


Constitutional courts and Special courts

pg 507

When a case may be tried in either the federal or state court system, it is said that the two systems have what type of jurisdiction?  


Concurrent jurisdiction  
pgs. 508-509

Shakespeare
In “Richard II, “ what does Bolingbroke tell his uncle, the Duke of York, is his reason for returning to England before the term of his exile has ended?


To recover his inheritance (confiscated by King Richard)   (II.iii. 131-136)
In “antonym and Cleopatra, “ when Cleopatra asks Caesar for the crown of the Ptolemies for her heirs, Caesar grants her request on what condidtion?


That she send Antony from Egypt or take his life there   (III.xii.20-24)

In “Troilus and Cressida, “ after the indecisive battle between Hector and Ajax, who entertains Hector at dinner in his tent?


Achilles 
(V.i.1-3, 77ff)

Vocabulary
amend


a. correct

(correct answer)

b. separate

c. twist

d. bring together
aloof

a. social 

b. dull

c. careful

d. apart

(correct answer)
assent

a. agree

(correct answer)
b. formal statement

c. steep climb

d. a going down

Team Choice
Bentonville chose Literature

In “The Interview, “ by Ruth Prawer Jhabvala, what does the narrator’s wife plead with him to do when they are alone at night?


Get a job and take her and the children away to live alone with him


(pg 273)

Decatur chose American History

What was the US policy of avoiding foreign entanglements known as?


Isolationism 
(pg 585)

Shiloh Christian chose Geography
When Australia and New Zealand became independent what organization did they join?


The British Commonwealth
pg 820
Team Choice Toss Up (1st Half)

Category was American Government
Which article of the Constitution spells out the original jurisdiction of the Supreme Court?


Article Three

pg 519

Chemistry
Different atomic orbital have different shapes.  These shapes are correlated to which type of quantum number?


Anular momentum Quantum number 
pg 299

What is the term used to describe the amount of energy required to convert one mole of a liquid into its gaseous state?


Heat of vaporization or enthalpy of vaporization
    pg 471

Each orbital of an atom can hold up to two electrons.  What must be true of two electrons occupying the same orbital?


They must have opposite spins
pg 303

Art History
What pop artist based his painting on comic strips?


Roy Lichtenstein
pg. 559

What pop artist made plaster casts of actual people?


George Segal
pg 560

What pop artist made combine paintings incorporating all kinds of junk?


Robert Rauschenberg    pg. 558

Sports
For the 2nd consecutive year, the Arkansas Derby winner was a finalist for Horse of the Year.  This horse won the Eclipse Award as the nation’s top 3-year old and finished 2nd in the Horse of the Year voting.  Name this 2005 Arkansas Derby winning horse.


Afleet Alex

pg 1c, Jan 24

This 17 year old high school student from Beaver Falls, Pennsylvania, was humiliated when a teacher made him sit on the floor during a mideterm exam for wearing this.  This was 2 days before the AFC championship game in which the Pittsurgh Steelers were playing.  What did this student wear?


A Denver Broncos jersey
pg. 2c, Jan 24

This is the only Olympic sport where a gold medal could be won by a spectator who leans too far over a railing and falls onto the course, said this newspaper man.  What is this sport in which competitors lie on their stomachs and slide headfirst?


Skeleton
pg 2c, Jan 23

Mathematics
The ratio of the measure of two consecutive angles of a parallelogram is 2:3 (2 to 3).  Find the measure of each angle.


72 degrees and 108 degrees

Find the volume of a cylinder (to the nearest .01 inch squared) if the diameter is 8 inches and the height is 9 inches.


452.16 inches squared

The scale factor of two similar polygons in 1:2 (1 to 2).  The area of the smaller polygon is 12 inches squared.  What’s the area of the larger polygon?

48 inches squared

Biology
A controlled culture of Drosophila set up with equal numbers of red-eyed and white-eyed flies of both sexes will, after 25 generations or so, end up having only red-eyed (the “normal”) flies in it.  This occurs despite the fact that whit-eyed flies are just as healthy and live just as long s red-eyed flies, i.e., they are equal in terms of survival.  But, as it turns out, not only do red-eyed females prefer red-eyed males, but white-eyed females do also.  This preference for a specific phenotype by female flies is an example of what type of selection?


Sexual selection
pg 283

What group of chemoheterotrophic prokaryotes dominate the microbial life in soil where they play a major role in the decay of dead organic matter and are the source of valuable antibiotics, including streptomycin, erythromycin, and the tetracyclines?


Actinomycetes
pg 351

A division of plants exhibit the following characteristics:  

· a similar life cycle (alternation of generations)

· similar reproductive organs (antheridia and archegonia)

· and a lack of vascular tissue (xylem and phloem)

Name this division.


Division Bryophyta

pg 394

Physics 

Superposition of two or more waves, creating bright and dark spots, is called what?

Interference

pg 301

An airplane flies due to a principle enunciated by whom?


Bernoulli

pg 273

What factors, other than the curvature of the surfaces of a lens, determine the location of the focal point of a lens?


Refractive index of the material of the lens and refractive index the


medium in which lens in placed

pg 388

World History
In 1941, Adolf Hitler decided to carry out the final decimation of the Jewish people in an act of genocide.  What is this act of genocide known as?


The Holocaust
pg 697

In 1913, Henry Ford, and American auto manufacturer, developed this process for producing cars.  Workers stood along a moving belt and attached parts as the cars passed.  What was it?


Assembly line
pg  637

During World War I, armies dug elaborate earthworks for protection and to hold the ground they had gained.  What are they called?


Trenches

pg 604

Team Choice
Bentonville chose Mathematics
Angle A and angle B are complementary, find the measure of each angle if the measure of angle A = 3x +12 and the measure of angle B = 2X – 22.


Angle A = 72 degrees and angle B = 18 degrees
Decatur chose Biology
Some microorganisms, such as thermophiles and methanogens, can exist in extreme environments.  What specific name, also a subkingdom, is given to these organisms?


Archaebacteria

Shiloh Christain chose Chemistry
Orbitals having a spherical shape have what value for their angular momentum quantum number?


Zero

pg 299-300

Team Choice Toss Up (2nd Half)

Category was World History
What is the name for the agreement that established a free-trade zone for the United States, Canada, and Mexico?


North American Free Trade Agreement (or NAFTA)
pg 818
